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Fig.56 U=32[m/s]_a = 0[rpm]_T=7.5[kgf]_f,=3.4[Hz]_f.=0[Hz]_fy=2.7[Hz]_U, = 6.1
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Fig.64 U=16[m/s]_a = 30[rpm]_T=4.5[kgf]_f,=1.1[Hz]_f,=0.5[Hz]_fy=1.5[Hz]_U, = 3.8
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Fig.65 U=16[m/s]_a = 60[rpm]_T=4.5[kgf]_fV=1.1[Hz]_fr=1,0[HZ]_fN=1'5[Hz]_Ur =38
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Fig.66 U=16[m/s]_a = 90[rpm]_T=4.5[kgf]_f,=1.1[Hz]_f,=1.5[Hz]_f\=1.5[Hz]_U, = 3.8
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Fig.67 U=16[m/s]_a = 120[rpm]_T=4.5[kgfl_f,=1.1[Hz]_f.=2.0[Hz]_fy=1.5[Hz]_U, = 3.8
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Fig.68 U=16[m/s]_a = 150[rpm]_T=4.5[kgf]_f,=1.1[Hz] f=2.5[Hz]_fy=1.5[Hz] U, = 3.8
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Fig.70 U=16[m/s]_a = 210[rpm]_T=4.5[kgfl_f,=1.1[Hz]_f,=3.5[Hz]_fy=1.5[Hz]_U, = 3.8
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Fig.71 U=24[m/s]_a = 0[rpm]_T=2.0[kgf]_f,=1.7[Hz]_f.=0.0[Hz]_f\y=1.0[Hz]_U, = 8.5



1.5

0.5

placement/D

-0.5

IL_dis

-1.5

powe:

powe:

CF_displacement/D

2 frequency [HZ] 3

displacement / D

1.5

1

0.5

0

.o
= [

=
ot

2.5

p)
|
do

>
—
—

time [s]

Fig.72 U=24[m/s]_a = 40[rpm]_T=2.0[kgf]_f,=1.7[Hz]_f,=0.5[Hz]_fy=1.0[Hz]_U, = 8.5
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Fig.73 U=24[m/s]_a = 80[rpm]_T=2.0[kgf]_f,=1.7[Hz]_f,=1.0[Hz]_fy=1.0[Hz]_U, = 8.5
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Fig.74 U=24[m/s]_a = 120[rpm]_T=2.0[kgf]_f,=1.7[Hz]_f.=1.5[Hz]_fy=1.0[Hz]_U, = 8.5
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Fig.75 U=24[m/s]_a = 160[rpm]_T=2.0[kgfl_f,=1.7[Hz]_f,=2.0[Hz]_fy=1.0[Hz]_U, = 8.5
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Fig.76 U=24[m/s]_a = 200[rpm]_T=2.0[kgfl_f,=1.7[Hz]_f.=2.5[Hz]_fy=1.0[Hz]_U, = 8.5
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Fig.77 U=24[m/s]_a = 240[rpm]_T=2.0[kgf]_f,=1.7[Hz]_f,=3.0[Hz]_fy=1.0[Hz]_U, = 8.5





